FRE H24.4 H24.5 H24.6
BHIZH iEH RIEE L)L S| RIEE LA iEH RO | RREILANL

1 H 17 67.5 N 22 87.4 & 12 71.9
2 A 21 72.5 7K 2 69.0 + 16 67.1
3 PR 5 74.2 /N 3 70.4 B 11 67.5
4 7K 31 77.0 & 21 70.3 JZ] 14 74.1
5 N 22 71.9 + 20 69.9 X 11 68.4
6 % 29 75.0 B 8 76.4 7K 19 71.2
7 + 13 81.4 A 24 78.8 N 31 77.7
8 =] 16 75.6 PR 38 86.7 & 19 74.6
9 A 17 86.2 7K 30 86.2 + 0 —
10 X 26 74.6 /N 11 73.6 =] 19 73.6
11 7k 6 97.5 & 23 70.7 A 26 73.8
12 X 19 71.0 + 19 65.9 PR 6 71.9
13 & 25 98.0 = 19 72.9 7k 26 73.7
14 + 2 82.0 A 17 73.1 N 30 74.5
15 =] 15 70.7 N 18 80.8 o 14 68.5
16 A 21 74.8 7K 27 75.9 T+ 1 57.4
17 PR 15 80.6 /N 24 78.2 H 15 71.2
18 7K 29 76.7 & 20 76.0 A 20 83.5
19 X 21 78.1 + 17 69.0 X 8 68.0
20 £ 20 77.9 =] 17 73.0 7k 2 74.1
21 + 11 68.9 A 18 70.9 N 17 72.4
22 H 12 72.2 PR 31 87.0 & 7 715
23 A 3 65.3 7K 32 80.0 + 12 69.1
24 PR 26 89.6 /N 32 98.9 B 9 69.9
25 7K 30 76.2 & 25 76.1 A 21 73.4
26 X 19 87.5 + 14 67.8 PR 32 76.5
27 £ 8 81.3 = 14 71.2 7k 23 69.0
28 + 22 74.4 A 12 74.3 X 26 78.8
29 =] 14 67.9 PR 10 69.4 & 20 76.8
30 A 32 79.3 7K 28 75.6 + 13 76.3
31 X 23 71.0

ARlI&XIE 32 98.0 HARImXIE 38 98.9 HRImXIE 32 83.5




FRE H24.7 H24.8 H24.9
HIZH iEH LERIIEE LA)L S| AL | RXEBELANIL iEH RO | RREILANL

1 H 12 74.4 7K 11 86.4 + 4 72.3
2 A 17 71.0 X 13 84.9 = 4 66.5
3 X 18 70.9 & 7 70.2 A 4 74.9
4 7k 5 69.8 + 5 70.1 PR 6 76.4
5 X 12 69.4 =] 3 79.2 7k 5 71.4
6 £ 16 73.9 A 6 70.8 N 8 74.4
7 + 3 68.9 PR 7 77.9 £ 16 73.9
8 =] 9 69.0 7k 1 81.0 + 9 66.3
9 A 20 72.0 PN 1 67.0 = 8 69.4
10 PR 19 70.4 & 3 94,1 JZ] 16 74.0
11 7K 8 82.5 T+ 1 69.2 PR 19 71.5
12 /S 8 74.2 H 1 69.8 7K 19 75.2
13 & 6 67.7 JZ] 2 79.7 N 21 70.5
14 + 9 67.6 PR 2 81.1 & 18 72.3
15 =] 8 75.0 7K 0 — + 13 76.1
16 A 10 74.3 X 4 72.8 =] 11 74.2
17 PR 11 71.3 & 4 67.8 A 4 69.6
18 7K 25 76.8 + 0 — PR 15 73.7
19 N 20 72.8 H 0 — 7K 10 72.2
20 £ 13 67.4 JZ] 3 79.0 N 22 77.3
21 + 16 76.3 PR 1 70.5 & 27 70.1
22 = 12 70.0 7K 6 75.8 + 21 72.3
23 A 14 70.6 X 1 68.7 = 1 69.2
24 X 21 68.8 & 2 68.9 A 16 66.8
25 7K 12 77.3 + 2 70.7 X 22 71.6
26 X 13 69.5 H 4 72.0 7K 21 715
27 £ 13 68.9 JZ] 4 67.0 X 19 71.4
28 + 7 67.4 X 7 76.0 & 20 72.2
29 =] 6 68.8 7K 5 72.3 + 22 71.8
30 A 15 69.4 S 13 74.6 = 9 70.4
31 PR 15 71.4 & 6 74.7

= 25 825 ARE 13 941 AM&EXIE 27 77.3




FRAE H24.10 H24.11 H24.12
BIZH iEZH AR | RKXEIFLANIL iEH ERAEE | RKEFLANIL iEH RO | RREIFLANL

1 JZ] 13 71.1 PN 22 73.1 + 15 71.9
2 X 20 69.1 £ 22 75.6 = 22 68.1
3 7K 24 71.3 + 21 70.6 A 25 69.0
4 X 16 73.0 = 17 64.8 X 23 80.9
5 £ 26 71.9 A 33 73.9 7k 37 77.2
6 + 16 69.7 PR 12 67.6 x 21 71.8
7 = 18 73.1 7K 32 80.8 £ 26 85.3
8 JZ] 17 65.5 X 25 74.5 + 11 73.3
9 PR 21 73.3 & 25 71.6 = 14 69.4
10 7K 32 71.5 + 18 68.5 A 20 65.3
11 X 27 73.1 = 20 74.2 PR 30 75.3
12 & 30 70.1 A 18 71.5 7K 29 71.7
13 + 34 75.9 PR 33 75.5 X 31 75.5
14 B 15 71.0 7K 22 76.4 £ 26 87.1
15 JZ] 27 71.0 X 21 76.3 + 10 72.9
16 X 32 71.6 & 24 71.7 = 19 69.2
17 7K 31 71.5 + 9 74.9 A 27 76.3
18 x 18 71.5 = 24 76.7 X 37 69.9
19 & 28 75.8 A 40 79.8 7k 34 73.9
20 + 15 70.8 PR 33 71.9 PN 41 76.6
21 = 16 74.9 7k 30 71.1 & 32 77.6
22 JZ] 27 70.4 X 23 72.4 + 0 —
23 PR 11 70.4 £ 3 69.6 = 14 70.6
24 7K 20 79.8 + 34 73.3 A 23 66.6
25 N 28 80.8 B 19 69.1 X 25 68.8
26 & 29 71.0 A 7 71.1 7K 15 69.8
27 + 26 71.1 X 23 82.1 X 19 73.9
28 B 12 68.4 7k 35 75.1 & 13 67.7
29 JZ] 19 72.0 X 22 79.3 + 26 70.1
30 X 30 71.9 £ 21 80.8 = 1 62.0
31 7k 37 75.3 ___— A 19 70.3

ARl&XIE 37 80.8 ARImXIE 40 82.1 ARmXIE 41 87.1




LS H25.1 H25.2 H25.3

HIZH iEH SRAEE | RXEFLANIL iEH= SRR | RREFLANIL i =] SAMD% | RKEFLANIL
1 7K 18 67.9 & 33 74.8 & 16 74.3
2 X 75.5 T+ 16 70.3 + 12 71.6
3 x= 28 68.9 =] 18 68.1 H 20 73.2
4 + 26 67.6 A 25 82.1 A 28 73.5
5 =] 17 69.8 X 27 77.3 X 34 79.8
6 A 16 69.9 7K 3 70.4 7K 25 79.1
7 X 21 69.3 PN 37 99.6 A 23 76.6
8 7K 26 71.4 & 16 78.9 & 26 77.7
9 P/ 28 70.8 + 22 68.3 + 18 80.1
10 Eo 32 74.3 =] 13 71.7 H 9 73.6
11 + 26 72.5 A 14 67.2 A 25 74.7
12 H 21 72.6 PR 38 74.1 X 22 73.7
13 A 17 72.3 7K 21 83.2 7K 15 85.8
14 w — X 30 82.2 X 23 75.3
15 7k 22 73.4 Eo 21 71.4 Eo 7 71.2
16 A 31 77 + 9 75.0 + 9 72.0
17 Eo 29 77.8 =] 18 78.2 = 15 74.3
18 + 26 83.3 A 14 79.4 A 11 78.0
19 = 18 66.6 X 9 73.5 xR 17 72.0
20 JZ] 19 69.7 7K 28 79.8 7K 26 100.2
21 X 26 74.9 PN 30 86.1 /N 19 73.5
22 7k 19 75.6 £ 25 70.3 Eo 12 75.9
23 X 32 82.5 + 15 65.0 + 17 73.2
24 £ 34 84.4 =] 12 72.9 H 14 67.1
25 + 29 77.4 A 23 69.9 A 24 81.6
26 = 13 75.7 X 32 97.6 xR 22 75.4
27 JZ] 15 64.4 7K 18 69.5 7K 6 69.5
28 N 20 70.5 /N 40 78.0 S 27 96.2
29 7k 42 82.1 Eo 27 81.7
30 X 27 73.7 + 12 70.9
31 & 33 92.3 ___—_ |8 12 71.9
= 42 92.3 AMI®ZEXIE 40 90.6 AM&ZXIE 34 100.2
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